11 ady Al Ja

sl dggan gl pualaal) Gladiall
Max Z= 2X1+3Xs sl | A9 G oY) £ 5l | Ao (e S £ sl -
()] (X2) (X1) FR PP
2X1+X2<1500 1500 1 2 1 46 sal
1.5x1+X,<1800 e
slc < S 1800 1 1.5 2 A Y BaLal)
X1+2X,<2000 .
2000 2 1 3 aalg¥) dalal)
X120, Xzzo
~ 3 2 (@) g9s) A
:2 ab) Adlawd) Ja
. dg90a gl palial) el
AM‘ e N o N R 3 . . ‘
Max Z = 9X;+5X,+3Xs e [ X P I T
—~ e | RalT0n | Ll 0 | AV 0541 30 gal
2X1+X2<900 (+29) (X3) (X2) (X1) i
1.5X1+X,+3x3<1200 900 - 1 2 1 4 sY Bakall
slc <
2 Xo+2x3<1500 1200 3 1 1.5 2 4540 Balal)
L X120, x2>0, X3=0 1500 2 2 - 3 45N salal)
3 5 9 (@) gssl A
:3 aby A Mwall Ja
dggan gl ualial)
Max Z = 5xX;+3X, | ¢$<abll slialll a0 £ il | (s J ¥ £ ol clailal) ‘
_ (S dsl) &l Ul &l Ul aludY)
2X1+4%,<20 (X2) (X1)
X1+2.5%,<12 20=4x5 4 2 1 anddl)
s/c .
< X1+1.5%,<6 12=4x3 2.5 1 2 axdl)
\X120, X2>0 6=6x1 1.5 1 3 peadl
3 5 (4283 Bas g) (5 93 o) M)

14 a8 ) Atlual) da

Min Z = 4X1+6X,+3X3
0.3x;+0.4x,>800
0.1x1+ 0.5%3=960

X120, x2>0, x3>0

sl/c



